Bl A
FHMTFELATR AR REE S BR243TT 5
Pk R4 5 — FRABOMA (IR B L5 5 R
SBERIIN : AFITELA20H (EF) ARSI : MR W —
WE | B 4 e WM | g | | AR AT
AR AL 5
BB A B
! BIEO & 35 ARTEIABLA | g TIE L ERTIE
e 1}
B

A LT IERBIRY . £ AFESHEICZO TIEE N,
* MAEE DB FRATICERERS L T 2SS0,

] 25 i D FERR D 18L&

BIE AR B EE AL TR
M FEA

CoAE 045—391—6165
FAX 045—361—9777




BIHE

S B4 Aty T ks | e | v
1 RE B — R T—7 EL-154HX Al 80 =
| e | L
3 izi?;?i; 7DY Yrh E-AL-200 A 2 |
4 TIR—H— TAVAS—F~ HSL-A342-W Al 1 =)
5 ﬁiﬁ)&fg/A R Y 2 (1188%?}\) A 1|
6 ﬁf&oﬁfgéw Av—hYa— (100K [ N
7 7;’75;7%%“ XLTU L SR-R680 ) 1 =
10 3&2?;77?5%3%6 RTVL X’\?—-I\SZSL172§;\5:1;86—804 2 L
13 lz;Ran:—;@l%lyéé FT L x?~§§§}(;2586—815 L N
14 32@3%%5 FT L xvﬂxszchgﬁ;ggw—%o [ N
15 Tiff;?%%; FTVA xv~1\SzCLl784R;<5:gs2—259 " L i
16 ?E:%T;?%ﬂ%;gg; FoT LA 27—%52%11_;?2887189 ]
17 ?i%ﬁ;;;%?lﬁl;%; FoT I X'?“]\Sg‘g/}?;ﬁgSZ*ZSZ 2 I G
18 PRO7—7"J1—hNJw S A SC18B-5P A | %

(=32 7) 5 N\ :8m

A~ —PFAF 7 £ A:382-253




BIHE

H B4 Ry T L R | e | g
PLES
19 Pli?lﬁli; ;E/BF%r/n/ FoTIh 7«7~MLS7S§§<:174—084 opr |
20 Pli?@i; ;Z];;%;/ FTTh 7\<7~]\2LS7S?;E<:174—085 Topr |
21 | ;73;;%;/ bl pe—torginiogs | T [ 1|
2 | Mason e | 7| e | 7 | L |
23 Pli?@i; ;«zj;;%él/ FoTIh xV\?~MLS7S?;;353—377 aopr |
24 PT%/?; ;Zj;;%r/n/ T 7\7»—%z§§142§:353—378 ot M
25 PT?EI?ET ;ZJ;;%;/ T 7«7»—%;2148;5:353—383 o]
26 Pli?@i;;f;;%;/ FT A 7\<7~I\ZLS§2/:1/5:353—386 et A
7 | M as o e e xo—tobgxasaase | T | 1|
5 | e ny o A pe— o gasaaes | T | 1|
29 1;1?@0 %%?i}?éﬁ FoT A X?“—T\ZLS;?;:BSB—B% Topr | M
30 Mll;leé;?vj;j&/gm T xv—mggfgzs%—sw R
31 1{%@9\2}1@:53)/;11 FTTA 7«»%2@?&;353—324 Topr |
32 PR%&E%-;%;%;/ FTI A xv—mshggf;\v:mkzm et M
33 <T§E%§7§?g/m FoT A x?~%7sfv72i};l\j753—213 gt M
340 | ESTEEGYT) Sk T2 ) A Kodsc w10 |
/N B5YAXH
35 RS2 N2V T) Ir=A CDR-L Af 2 &
36 RS2y NZUT) r=A CDR-M AJ 2 1E
37 RIS 2 NI T) = CDR-S AJ 12 &




BIHE

THZ AT A—Tp— T - Bk o | B | AL
38 AL S22k Ir=A DR-L AJ 12 1]
39 TS 2ok r=A SH-L Af 12 1
40 EHL A2y NZUT) r=2 CSH-L Ay 2 1
41 TN N ZUT) r=2x CSH-M Af 14 1
42 RISy NZUT) r=A CSH-S Af 14 1
43 K2 ZVT) r=A CL Cl) 2 1
44 KZ Sy MZIT) =2 CM AJ 2 [
45 K2y ZVT) =2 CS L) 2 i
46 BT AT < NAL) VaA T I A B059]-A4 AJ 42 e




